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All questions are compulsory.
Figures to the right indicate full marks.
Draw neat diagrams wherever necessary.

Answer the following.
What is Ceteris paribus?
OR

. Explain the terms Wealth & Welfare.

Discuss the Indifference Curve.
OR

. Examine the equimarginal utility.

What is production function?
OR
Explain economies of scale.

Discuss the significance of Micro - economics.
Describe graphs & diagrams.
OR
State static & dynamic equilibrium.
What is managerial economics?

Explain the law of demand.
Discuss the consumer’s surplus.
OR

. What is indifference curve?

Calculate the cross elasticity of demand, if price of %’ good increases
from Rs. 50 to Rs.70 per kg, the quantity ‘y’ increases from 400 to 600.

Explain the long run production function.

. Discuss the economies of scope.

OR

Examine Social cost & Private cost.

. Calculate Total Cost, Average Cost & Marginal Cost from following table.

Output| TFC | TVC | TC | AC | MC

1 200 50

i e 200 | 80 J
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